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In this exanple, we do a little bit nore involved i mage processing.

The goal is a image that mirrors the left side across the center

l[ine onto the right side. There are two equations that govern this. So you
can see the differece, this displays the original inage and then the mrrored
i mge below it.

First, we need to figure out what the mirrored point is. If the point we
want to mirror is at (i,j), then the mrrored point is (ing.width - i - 1,j).

Second, we need to figure out where these coordinates can be found in our 1D
array. Gven a point(i,j), the index is i + j*ing.wdth.

C. Andrews
2014-01- 16

**/

Pl mage i ny;
voi d setup() {
ing = | oadl mage("col e2. | pg");

size(ing.w dth, ing.height*2);
noLoop();
}

voi d draw() {
/1 display the original inmge
i mge(imy, 0, 0);

/1 we need to | oad the pixels so we can access themin the pixels array
i mg. | oadPi xel s();

/1 loop over half of the pixels in the inmage
for (int j =0; j <img.height; j++) {
for (int i =0; i <ing.width/2;i++) {
int srclndex, dstlndex;
/1l convert i,j into an index for the source pixe

srclndex =i + j * ing.wdth;
/1 convert i,j into an index for the destination pixe
dstlndex = (img.width - i-1) +j * ing.wdth;

/1l copy the value fromthe source inage to the destination |ocation
i mg. pi xel s[dstIndex] = ing. pixel s[srclndex];
}
}

/1l update the pixels to put them back in the imge
i mg. updat ePi xel s();

/1 display the inage
i mge(ing, 0, inyg.height);
}



